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. A. B,
C. D. NaCl
1. .
. C.
1 10% NaCl 200 g .
20% ). 1.
A. 110 ¢ (1) + — +H1
B, 100 ¢
C. 25 ¢ .
D. 250 ¢ H,
(2) + — +
0%  20%
B.C. . >
(2) y>4 AV="L 4 ! 4
4 . 'D.
(3) y<4 AV=1-+ 1.
( )
2. (C.H,) A.CH, B.C,H, C.C,H, D.CH,
2 co,
: co,
4 120C 1 4 o, O
A B. .
() c. . D. .
A1 B2 C3 D4
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P H

m=n

P,H, P, .H, V(PH,):

e D] »

211200

1 N(PmHn) N(P4) N( Hz) =
4:1:6
PmHu P4 HZ
4P H, =P, +6H,
P H m=1n=3

m>n

PH,

> Fe + CuSO, ==Cu + FeS0,

56 64 64 -56 =8
Zn + CuSO, =—=Cu + ZnS0O,
65 64 65 -64=1
3
C o
A.H,S0, B.HCl C.CuSO, D.AgNO,

H, ( )

) :
Zn + H,S0, =—=7nS0, + H, 1

o

Zn( NO,) , +2Ag

Zn +2AgNO,

2AgNO,  Zn( NO,),

2Ag  Zn
D.

2.
(n + — o+
2HCI + Mg( OH) , ==MgCl, +2H,0
(2) + — o+
H,S0, + CuO CuSO, + H,0
(3) + — +H,0+CO, T

2HCI + CaCO, ==CaCl, + H,0 + CO, 1
(4 + E -

2NaOH + CO, ==Na, CO, + H,0

FeS +2HCl ==FeCl, + H,S 1

3, (

)
(n  + — +H,0+CO, 1
2HCI + Na,CO, =—=2NaCl + H,0 + CO, 1
(2) + — +
H,S0, + BaCl, —=BaS0, | +2HCl
(3) + — +
2NaOH + CuCl, ==Cu( OH) , | +2NaCl
(4) + —
Na,S0, + BaCl, —=BaSO0, | +2NaCl

4
( o
A.Mg B.MgO C.Mg(OH), D.MgCO,
Mg + 2HCl =—MgCl, + H, 1
MgO +2HCl ===MgC(l, +2H,0
MgCO, +2HCl ==MgCl, + H,0 + CO, 1
HCl

MgCl, o
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